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36. Identify the correct sentence :
(1) No one was in the house luckily when the roof fell in.
(2) No one was in the house when the roof fell in luckily.
(3) Luckily, no one was in the house when the roof fell in.
(4) No one luckily was in the house when the roof fell in.
37. He will probably study in Australia ?
(Rewrite using the adjective form of the underlined word)
(1) Probably that he will study in Australia
(2) Itis probable he will study in Australia
(3) It is probability that he will stay in Australia and study
(4) Probably he will stay and study in Australia
38. His eyes would water whenever he tried to cut an onion.
Rewrite using an “_ ing” verb.
(1) His eyes would water whenever he tried cutting an onion.
(2) His eyes would have water when he is trying to cut an onion.
(3) His eyes would get water whenever he is trying the cutting of an onion.
(4) His eyes always get water whenever he tries for cutting an onion.
39. Which of the following verb phrases is correctly used ?
(1) He lugged out his camera on the tripod.
(2) He lugged on his camera on the tripod.
(3) He lugged off his camera on the tripod.
(4) He lugged with his camera on the tripod.
40. Its ethnicity - a vibrant element of its very culture is ubiquitously visible in its monument,
crafts and cuisine.
Rewrite as a complex sentence.
(1)  TIts ethnicity is vibrant element of its culture as ubiquitously visible in its monument,
crafts and cuisine.
(2) As ubiquitously visible in its monument, crafts and cuisine with ethnicity that is
vibrant element of its culture.
(3) Ilis ethnicity, which is a vibrant element of its very culture, is ubiquitously visible in
its monument, craft and cuisine.
(4) The ethnicity of a vibrant element of its very culture which is ubiquitiously visible in
its monument, crafts and cuisine.
41. Select the expression that conveys the same meaning as the phrase given.

To lose one’s bearings.
(1)  to be uncertain of one’s position (2) to become mad
(3) to become sick and tired (4) to lose one’s temper
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42. “A dance which is performed according to the tenets of the Natya Shastra is called a
classical dance.”
Which one of the following is most nearly the same in meaning as the word “tenet” as
used in the sentence above ?
(1) Principle (2) Principal (3)  Principles (4) Principals

43. Which is the correct indirect speech of the following sentence ?
“So help the Heaven !” he cried, “I will never steal again.”
(1) He asked the Heaven that he will not steal again.
(2) He asked the Heaven to help him in not to steal again.
(3) He called upon Heaven to witness his resolve never to steal again.
(4) He called the Heaven to witness his stealing again.

44. Choose the correct item to fill in the blank.
“This woman was reputed to be _ _.”
(1) sag (2) saga (3) sagacious (4) sagacity

45. Select the correct sentence of non-finite clause :
(1) However hard I try, I always fail the test.
(2)  The person who gave us this present was my great uncle Patil.
(3)  Duncan having retired for the night, Lady Macbeth put her sinister plan into effect.
(4) when we asked her, she sang an old lyric.

46. Choose the right use of phrase from the following :
(1) The minister called upon the youth of the country to oppose the dowry.
{2)  The minister called of the youth of the country to oppose the dowry.
(3)  The minister called off the youth of the country to oppose the dowry.
(4) The minister called out the youth of the country to oppose the dowry.

47. Which of the following alternatives is the correct passive form of the following sentence ?
“They were carrying the injured player off the field.”
(1)  The injured players was carried off by them.
(2) The injured player was being carried off the field.
(3) The injured player were being carried off the fields.
(4) The injured player were carried off the field.

48. Choose an appropriate word, that conveys more or less the same meaning as the keyword

Accede.
(1) refuse (2) agree to (3) follow (4) difficult
49. Select from the alternatives the word that is opposite in meaning to the three words given
below :
Whimsical, fanciful, freakish.
(1) serious (2) Dbaseless (3) harmful (4) bleak
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Select from the alternatives the word that is opposite in meaning to the three words given
below.

Wandering, roaming, rambling.
(1y idle (2) steady (3) weak (4) lethargic

51.

52.

Complete the following sentence.

“If he had not signed _ _.”

(1) he have been executed. (2)  he would have been executed.
(3} he would have executed. (4) he would executed.

Select the correct sentence/sentences.

(1)  Until he does not try, he must be punished.

(2) He must be punished until he tries.

(3) He must be punished so long as he does not try.
(4) Both (2) and (3) above are correct.

53. A person who is given to luxurious living is :

(1) Sybarite (2) Luxurious (3) Luxuriant (4)  Wealthy
54. Select the correct sentence/sentences.

(1) Tamill since three days. (2) I have been ill for three days.

(3) Ihave been ill since Friday. (4) Both (2) and (3) above are correct.
55. Choose the correct form of the verb.

“one of the girls _ _ mike.”

(1)  know (2)  to know (3) knows (4) knowes
56. Select the incorrect synonym pair from the following :

(1) relinquish / abandon (2)  humiliate / disgrace

(3) degraded / mean (4) exalt / abase
57. Choose the correctly spelt word.

(1) Feasibel (2) Feasible (3) Fascieble (4) Feaseble
58. Identify the correct sentence.

(1) carefully I was reading the letter (2) I was reading the letter carefully

(3) I was carefully reading the letter (4) I carefully was reading the letter
59. Don’t lose your temper.

Rewrite as an affirmative sentence.
(1) Keep silence (2) Calm & quite
(3) Keep calm (4) Keep away your temper
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60. Choose the word that can substitute the given sentence.
Simplest and smallest form of plant life, present in air, water and soil, essential to life but
may cause disease.
(1) toxin (2) virus (3) bacterium (4) amoeba
61. Make a complex sentence from the given simple sentences :
You are quiet. Can you tell me why ?
(1) You teli me the reason for being quiet.
(7)  What is the reason cf being quiet ?
() Canyou tell me why are you quiet ?
(4) Why are you quiet, can you tell me ?
62. Rearrange the jumbled parts POR and S to form a meaningful sentence along with the
first and the last part.
1. The sound of your voice
P.  words can create a
Q. and the choice of your
R.  and get them attracted to
S.  Tremendous impact on people
6.  you like a powerful magnet
(1), RSPQ (2) QSPFKR (3) PSQR (4 QPSR
63. Choose the one word that can substitute the given sentence.
Pledge given by a prisoner to return after a temporary release.
(1) guarantee (2) surety (3) parole (4) bail
64. Choose the correct sentence.
(1) Though he is fat but he runs fast. (2) Though he is fat still he runs fast.
(3) Though he is fat he runs fast. (4) Though he is fat yet he runs fast.
65. Select the correct sentence/sentences.

(A) You need cricket practise.
(B) Did you practice cricket ?
(1) Only (A) is correct (2)  Only (B) is correct
(3) Both (A) and (B) are correct (4) Neither (A) nor (B) is correct
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Question numbers 66 to 70 :
Read the following passage carefully and select correct answers to the questions given b-low :
Universities exist for a double purpose - to give advanced specialized training in such
subjects as medicine, law, and engineering, for the practitioners of which a high degree of
technical knowledge is indispensable, and in the second place, to encourage disinterested
researches and to impart to those capable of receiving it advanced learning of a less obviously
and immediately practical kind. A certain proportion of the young people attending Universities
do so for the purpose of making a career in one of the professions. The rest are there, nominally,
to finish their education by the acquisition of disinterested higher learning. In reality, however,
most of them attend the university for reasons entirely unconnected with this higher learning,
for which they feel no natural appetite and whose nature, significance and object they are
therefore unable to comprehend. They enrol themselves as students, or are enrolled by their
solicitous parents, because, in the first place, to have attended a University (particularly if the
university happens to be a notoriously expensive one) gives a certain social cachet; because a
university is a delightful club for young people; and finally because the modern University, at
any rate in England and America, is a great athletic organization. When we have deducted
from the total number of non-professional students all those who attend the University only for
reasons of snobbery and sociability, and for love of sport, the residue of genuine philomaths will
be remarkably small. And yet, leaving the professionals out of account for the moment, it is
precisely for the philomaths that Universities ought to cater. Students who are merely clubmen,
snobs, and athletes should be excluded. Of all the Universities, Oxford and Cambridge contain
the largest proportion of non-professional and merely snobbish and athletic students.

66. Which of the following is most nearly the same in meaning as the word ‘cachet” as used in
the passage ?
(1) development (2) distinguishing mark
(3) improvement (4) status mark

67. Which class of students should universities supply for ?
(1) those whu are genuinely interested in learning
(2) those who are attending only for snobbery
(3) students who are clubmen, snobs and athletes
(4) disinterested learners

68. The aim of the universities is to :
(1) Develop love for sport (2) Make a delightful club for young people
(38) To give traditional knowledge (4) Encourage disinterested researchers

69. The subject of the passage is :
(1) Education - higher learning (2) Education - making a career
(3) Education - a failure (4) Education - advanced training

70. The meaning of ‘solicitous’ in the paragraph is :
(1) religious (2) angry
(3) very concerned and anxious (4) kind and affectionate
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71. WG® ULIdEl il Gae 9N s @l :

(A) =T TuEH (B) . AT g
(C) Il Ifg 991g (D) T SetEn
(1) A BGCD 2y A /B D,C 3) CABD 4y D, A B C
Arrange the following presidents in chronological order :
(A) Dr. Radhakrlshnan (B) Dr. Zakir Hussain
(C) Dr. Rajendra Prasad (D) Giani Zailsingh
(1) A BCD (2) A, B D,C 3 CABD 4) D, ABC
72. WIOAIH! ShEEA TR SIAIS Faid oA o i ?
(1) HrTeRt (2) w3 A 3y =H (4) =fewa &2
According to population which among the following is the smallest country in the
world ?
(1)  Monaco (2) San Marino (3) China (4) Vatican city
73. AT Sl o
WY I (FuAr 99 ) WY I (T )
(@) 1960 () Tasrm
(b) 1963 () TR
() 1975 (iii) HENIE
(d) 1987 (iv) AOE
1) @-G), ®-Gv), (o-G) (@)-®G
(2) @-G0), G-G) ©-0 (d-0)
(3 @-Gv), ®-a0a) (©-0 (-3
@) (@)- @), G)-Gv), (-G), (d-0

Match the following :

Column I (Formation year)

(a) 196C

(by 1963

(c) 1975

(d)y 1987
(1 @-0), (b)-@v), (o) - (i),
(2) (a)-@i), (d)-Gv), (o)-(3),
(3) (@ -@v), (b)-(i), (c)- ()
4) (a)- (), (d)-(v), (o) - (i),

Column II (state)

(1)  Sikkim

(i) Goa

(iii) Maharashtra
(iv) Nagaland
(d) - (1)

(d) - (1)

(d) - (i)

(d) - (i)
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74. 1976 WIS HIVET HAT GokdigR  FHNIEARG ' BT Y68 IeqqTAKd RUATT ST ?

(1y 42 (2) 44 (3) 41 (4) 43

In 1976 by which constitutional amendment the word “socialism” was inserted in the
preamble ?

(1) 42 (2) 44 (3) 41 (4) 43

75. YA 907 T ‘T § Ydihia HIv GO’ HS ?

(1) fas@ e (2) AT R

(3) EI. I™FAR (4) el WY ARIeHT

Who designed ‘T’ the symbol of Indian currency Rupee ?

(1) Vijay Wagh (2) Amit Shaha

(3) D. Uday kumar (4) Dr. Raghunath Mashelkar

76. WRATSA Hard GG WK SSS Aldsd Gormrdl SR Il oIl Gfasrrsa
TR HqST 378 ?
1) Tos (2) A (3) FAe (4) W
The right of Judicial Review in the Supreme Court of India is based on the constitution of

which country ?
(1) England (2) America (3) Canada (4) France

77. TIOGUH! HIE SISl T TR,
(1) dfaummEr 7ge - . o HagHt
2) dfoum 9 Ay - < TR T9R]
(3) HfaumEW WSW - TEIHT Wt
(4) Sfexrr3tE - dfeqd Twe.
Which of the following pairs is mis-matched ?
(1) Draft constitution - Dr. BR. Ambedkar
(2) President of Constituent Assembly - Dr. Rajendra Prasad

(3) Member of Constituent Assembly - Mahatma Gandhi
(4) Objective Resolution - Pt. Nehru

78. qUAMS ‘' SRHT I G HEAIE GaA@H BT 2

(1) S & TRSH 2) <. fasa west

(3) . IHaua Marie 4) S TAY AREHRT

Who is the founder Director of “IUCA” Pune ?

(1) Dr. Jayant Narlikar (2) Dr. Vijay Bhatkar

(3) Dr. Vasantrao Govarikar (4) Dr. Raghunath Mashelkar
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79. WIGS RVl gFFE Tf. 9.7, HESHUAT ToauZd ged o Ao’ 379 wBed: —
(1) ST SHET SRR (2) uifife e wfuER
(3) HEHTE YRR (4) HHd=1 SifueR

Which of the following rights was described by Dr. B.R. Ambedkar as the “Heart and soul’
of the Constitution ?

(1) Right to Constitutional Remedies (2) Right of Freedom of Religion
(3) Right to Property (4) Right to Equality

80. TTHHSAT AT 326 HEH 61 o E] Hed LT HITAT AT,
(1) Trerevmien Heuid AR Higdsremd-
(2) HATHIAT HAes@Ts SuATaTea.
(3) HACRI™ 99 21 FuiaET 18 a9 0 &E.
(4) WARHIEE] SoaiTa A= TR HI0 dred.
The 61%t amendment to the Indian Constitution Article 326 is regarding :
(1) Code of conduct in election
2)  Voter’s Identity card

(
(3) Voter’s age is reduced from 21 to 18 years
(4)  Use of Electronic voting machine for election

81. TSHGYER Hald YoM IR *HvI AOS (Eaieywide Slednd.. ..

(1) S (2) ST

(3) TS FHR (4) TES TR

The first film personality to be nominated to the Rajya Sabha was :
(1) Raj Kapur (2) Nargis Dutta

(3) Raj Kumar (4)  Prithviraj Kapur

82. HHUS HIHRAY -
(1) |d AUFR &% THERA .
(2) T 9 g sfyer fawifsa o1,
(3) Hd SR TSI STHa
(4) TH@ AYHR AT A g THR ATICIF T
In Federal Government :
(1)  All Rights are reserved with Central Government
(2) Rights are divided between Central and State Government

(3)  All Rights are reserved with the States
(4) States have rights but they are guided by the Central Government
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83. &g wirsAl oEl
WY 1 (IETEen) WY I (3T )
(a) Frafem smam () =T - 280
(b) EH SIHYAT ET (i) FAT=T - 124
(c) faa smam (iti) =T - 315
(d) HaA AT (iv) HAT=T - 324
1) (@-@), G- (©-0v) (@-O)
@) @-Gv), m->) ©-@G (-
() @-{v), ®-0G (©-0), (-
4) @-@G@ (®-G) (©-G (d)-@v)
Match the following :
Column [ (Constitutional Institution) Column II (Article)
(a) Election Commission (i)  Article - 280
(b)  Union Public Service Commission (i) Article - 124
(¢} Finance Commission (iii) Article - 315
(d) Supreme Court (iv) Article - 324
1) @-G), OG-0, (©-@), (d-(aG
(2) @-G@v), -G, (©-0 (d)-@
G @-@) -0 (-G /-
@) @-@G@, -G (©-0O @-(i)
84. a3 TEYERM YR 1958 T FHEH ' wiod berdl WYl SEre FvnEt g ?
(1) 9wEs (2) ITEHH
(3) UMGEEd G (4) dEfEeeR
Who holds the sole responsibility of “Village fund” established under Mumbai
Grampanchayat Act 1958 ?
(1) Head of the village (2) Deputy Head of the village
(3) Secretary of Gram Panchayat (4) Tahsildar
85. T3 oTgo oM A YR Ueudl Bu[ fiagd e et =i gfaerd! siv 2 ?

1) i Semig 2) HafET SEmEd

(3) o wyTe (4) fEL &

Who was the contestant when AP] Abdul Kalam got elected as the President of India ?
(1) Nirmala Deshpande (2) Bhairosingh Sekhawat

(3) Lakshmi Sehgal (4) Jogindar Singh

HeAT HIVAS FWT / SPACE FOR ROUGH WORK
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86. IU- 2012 Fedie Afa Gr=rd AT o= Me & 9qvd Hol.
(1) 1-0 2y 3-0 3 4-0 4 6-0
Spain defeated Itali in Euro - 2012 football finals by goals.
() 1-0 (2 3-0 3) 4-0 4) 6-0

87. UAi® FUTHE TEIGUH! HIUG ded EEd 6! 2
(1) A ggstier
(2) SCUEER SHTHHU
(3) IREIUSAT @ EcATE] 9§ HIEHHETH ST
(4) fEg T dg aui=r yar suftn g=m
Which of the following is not found in ‘Panchasheel agreement’ ?
(1) Peaceful Co - existance
(2) Non aggression on neighbouring country

(3) Mutual respect to sovereignty and unity
(4) Spread of Hinduism and Buddhism

88. 19 =41 VAT WYVl YRAW fewfzami snfeardi™ d€ aoe faud, SR ...
(1) HERRE = (2) oenfeard= wndl 9@
(3) fafew= aureqant arRo (4) ThoTE HURE A
Why in the 19th century, there were tribal uprisings at several places in India ?

(1) Exploitation by moneylenders (2)  Selfish leadership of tribals
(3) Colonial policies of British (4) None of the above

89. T. VIR WA § B feossh AioAdie HEhE V] HeIHes HHl A ?
(1) TR FRIUST Yeh{UT I O TR0l
(2) SIS UHLT F HIHTHERIS Yehvl
(3) TETETS YTV I Y0NS Fehul
(4) IASTH YR F ASHBRIS Yehol

Which of the following events led to bitter relations between Chhatrapati Shahu Maharaj
and Lokmanya Tilak ?

(1) Kakamaharaj and Puranokta episodes
(2) Vedokta and Kakamaharaj episodes
(3) Taimaharaj and puranokta episodes
(4)

Vedokta and Taimaharaj episodes

ol HIATES ST / SPACE FOR ROUGH WORK
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90. 19 =1 YIS UTfHeh o WS Guron'' Seasie g 3fEw g
(1) Tofew saEdeRR faay (2) woAd e HieTw!
(3) TwH{fHE (4) THIAER
What was the main objective behind the “Religio-socio reforms” in 19th century ?
(1) Oppose British colonialism (2) Salvation
(3) Pride of one’s own religion (4) Humanism
91. WHGUH! HIOTET HERILAS TEHR] Teleol3it Felel ATal ?
(1) oAsEYd Mete (2) d%H3uTE Hed
@) fogova fo@ weie (4) . YHE AR
Who was not associated with the co-operative movement of Maharashtra ?
(1) Dhananjayrao Gadgil (2) Vaikunthbhai Mehta
(3)  Vitthalrao Vikhe Patil (4) Gen. Shankarrao Thorat
92. It SATARTAT ATIRIFIUMES Terfeen=ar Hiesra TRAT F7a IR e ?
(1) S FeHEE R
(2) Tt o1¢f ST gERen
(3) Tefew warfatg 8@
(4) T fomra
What were the effects of commercialization of Agriculture in British India ?
(1) Prosperity in Agriculture
(2) Improvement of rural economy
(3) Rebellion against the British Government
(4) Famine relief
93. TRINRR 'FHAleHids’ WA Hiv 4fHs 8 ?
(1) TERTE <¥ie (2) FTH FOTH
(3)  STOUN Wews (4) <3N
Who was known as “Karnatak Sinh” in Maharashtra ?
(1) Gangadharrao Deshpande (2) Kaka Kalelkar
(3) Anna Sahastrabuddhe (4) Deu Ganpat
94. e fai= wikdrE! T PRI
1 ™ (2 H (3) W (4) oSt
“Goa Liberation Committee” was established at .
(1) Pune (2) Mumbeai (3) Margao (4) Panaji

FHoAT HETHIS! T / SPACE FOR ROUGH WORK
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95. WISGIH! IHE SISl vl 2

(1) arerg e - IR (2) et e - qEHEE

(3) TIETE TS - HarHed (4) dReE dieF - ffaer

Which of the following is incorrectly paired ?

(1) Tarabai Shinde - Balgruh (2) Pandita Ramabai - Muktisadan

(3) Ramabai Ranade - Seva sadan  (4) Tarabai Modak - Shishuvihar

96. fi=rm =d Wom SfEe w/™ B4 2
(1) Tt der .

(2) sl dar w=@
() a0 =L
(@) o S TR

What was the objective of the Nishkam Karma Math ?
(1) To work for upliftment of women

(2) To work for upliftment of depressed classes

(3) Both the above

(4) None of the above

97. YRS Jfeedl SR oI HeT9e 9 eIl Fob 41ea] Heaeieesh JHeIdie (aed Rl

__ ®E
(1) T SEeat 2) FORE WBH
(3) AR HERH FES (4) TS ETg

was the founder of the first workers union in India and also a loyal follower
of “Satyashodhak samaj” started by Mahatma Phule.

(1) Dinkarrao Javalkar (2) Krishnarao Bhalekar
(3) Narayan Meghaji Lokhande (4) Rajarshi Shahu

98. WIS Ufed AU HIEUATA | FHICTST Sl 7

(1) 9IS HENH (2) fawopmeit vE

(3) IS FHEHL (4) orHarg feww

Who has the honour of publishing the first news paper in Marathi ?
(1) Bhau Mahajan (2)  Vishnushashri Pandit
(3) Balshastri Jambhekar (4) Lokmanya Tilak

HoAT KA FEM / SPACE FOR ROUGH WORK
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‘feute Jo fuvm’ 3 TR Goe SV TTHEE! FE 5O
(1) <fodr=n grEmt (2) fauafaams

(3) afearEt da (4) T-TISEH
‘Depressed class mission” prominently worked for :

(1) Upliftment of Dalit (2) Widow remarriage
(3) Service to tribal (4) Women empowerment

100.

MRS qER -3 RUH Hivel AleEs W ?

(1) wEen $e 2) HHAR yEE T
() TEN HiS Fua e (4) v fage g
Who is regarded as the ‘Booker T-Washington’ of Maharashtra ?

(1) Mahatma Phule (2) Karmaveer Bhaurao Patil
(3) Maharshi Dhondo Keshav Karve (4) Maharshi Vitthal Shinde

101.

YRAWHS Fgaraemr 9ge [Ehd RIH HIOMHS qiEs I ?

(1) €. sR&EY HeviE (2) T4 @d

() ¥ . AR (4) T TEHR

Who is regarded as the first staunch follower of family planning programme in India 7

(1) Dr. Dwarkanath Kotnis (2) R.D. Karve
(3) H.N. Apte (4) RG. Gadkari

102.

IfEaRN S F HINH TR ?
(1) ST wisRa (2) M IARE  (3) RS @) . F. TE

Who is known as the father of Rationalism ?

103.

(1) Dr. Bhandarkar (2) G.G. Agarkar (3) Justice Ranade (4) G.K. Gokhale
e fawrdte agaiet dearn fadt ?
(1) 25 (2) 58 (3) 76 4) 35

How many Talukas are there in Aurangabad Division ?
1y 25 (2) 58 (3) 76 4) 35

104.

RS Tow (et sk T fSeeam ufes Sfaed o' gata aifus omR ?

1) | @ ™ (3) Worg (4) STEHASTR
Which one of the following districts has the largest area under fallow ?

(1) Sangli (2) Pune (3) Solapur (4) Ahmednagar

HoeAT HIWE AR / SPACE FOR ROUGH WORK
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105. ST FHIOAT I SIAS AR & AR W e ?

(1) g Aoy =0 (2)  9RA A0 aTeTRe

(3} 9d M e (4) WA 01 AT

Between which of the tollowing countries “Mc Mahon Line’ is the boundary

(1)  India and China (2) India and Bangladesh
(3) India and Pakistan (4) India and Nepal

106. WATEURT HIUH ST TR HA=T TEUMI 7
O CH ) fwael (2)  HHLE (4) TR

Which one of the following, is known as the Manchester of Maharashtra ?
(1)  Mumbai (2)  Bhiwandi (3) Ichalkaranji (4) Belapur

107. 9NATd Il T arAies GE=T shHIh=N YI&d Il ?

(1) 3HR-7d AreHT ai (2)  yE-di¥EH HRAH GR,
(3)  Efau-ufveam qEH an (4) Ulv=m-I8 HEE aR
Which winds brin >y in second highest rainfall in India ?

(1) North - East Monsoons (2)  East - West Monsoons
(3)  South - West Monsoons (4)  West - East Monsocns

108. WIGIGIhT BV HETHFER  Wdideh! B’ GBIl ?

(1) Hag-go (2) gN-HER

(3)  QU-HIIE (4) Hag-wifrR

On which one of the following high ways ‘Khambataki’ Ghat is located ?
(1)  Mumbai - Pune (2) Pune - Solapur

(3)  Pune - Bangaluru {4y  Mumbai - Nasik

109. ‘oo U’ Wielela! v TS| AR 7

(1) effewm (2) -
(3) U EmS (4) Fw

In which state is ‘Lake Chilka’ located ?
(1) Odisha
(3)  W. Bengal

N~

4

2)  Jammu-Kashmir
) Kerala

HTAT FHIATETS! T / SPACE FOR ROUGH WORK
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110. ‘fiR’ wymE! whag oe ?
(1) ¥R (2) dm™ (3) fag (4)
What is ‘Gir’ famous for ?
(1) Peacock (2) Tiger (3) Lion {4) Deer
111, RO IS Hiade gfony T &G S TR
(1) foceit 5o wen (2) oTfHE AR GHAS
(3) e ScaTHre gt (4) oM
Adverse effects of liberalization in India were seen on
(1) Foreign Exchange (2) Balance in economic transactions
(3)  Quality of Indian goods (4) Small Scale Industries
112, F GOl Weiferd el S deEIsed SYmed SiRd Uig TR W wAT v
TYHE UG TR
{1) 40 (2) 400
(3) 1000 (4) TSt FE TR
In agricultural field, there are more than websites but very few of them are i
regional languages.
(1) 40 (2) 400
(3) 1000 (4) None of the above
113. __ TRV UHT 9vid Scafed Ta-aeq ST SaiEr Ty ST B,
1) o TEE TI9 (2) UL IUA
@) Safaw 9= (4) Treaes Ut 3=
is defined as the total market value of all final goods and services produced in
a year.
(1) Gross National Product (G.N.P.) (2) National Income (N.I)
(3) Personal Income (P.1.) (4) Net National Product (N.N.P.}

114. Tid S YN 3ok afire =

() R IS R (2) Hrea foe
(3) TIRA AU (4) HES USIR Y&y
is the peculiarity of the developed industrial sector.
(1)  Sufficient social security (2) Free education
(3) Free food (4) Easy employment availability

Hoed HIHMETS! ST / SPACE FOR ROUGH WORK
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115, Jufis Seammined Jien GAEY T
(1) A 2) R
(3) T (4) o wd
Natural Resources include .
(1) Land (2) Water Resources
(3) Climate (4) All the above
116. STAERUIAG A BIR Tob fentuTiT geatveda JuaTq Sfewd Bal.
(1) &- (2) T (3) TR (4) g

Ozone layer of atmosphere prevents the entry of ____rays on the earth.
1 X (2) Gamma (3) Ultraviolet =~ (4) Neutrons

117. WTo™ SEET ST HRETANE Hiod fagia e st ?

(1) Fer wor fagia (2) e worEl fagia
(3) W werd fagid (4) =do wd fagid
In manufacturing industry which law of returns is applied ?
(1) Law of constant returns (2) Law of increasing returns
(3) Law of decreasing returns (4) All the above
118. ST Bu Srdte fafay sifereraia 3.
(1) aRHEH (2) SRS
(3) fawsitem (4) THIHIRIHI
Globalization means of various economies of the world.
(1) Internationalization (2) Liberalization
(3) Disintegration (4) Integration

119. &I TN &Ht 9= nfer AAfees gl fomma o o3 ivien wsoma fogm 392
(1) TSREH (2) s B) @ (@) FAleH

In which state is higher human development with relatively lower income seen ?
(1) Rajasthan (2) Haryana (3) Kerala (4) Karnataka

THoT RIMTHIS W / SPACE FOR ROUGH WORK
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120. _ Jremsiata R Foea freiae! TR fessi=n s v fom Sema
Haula Feol TR,
1) HHE (2) TE TS
(3) W& HEAH 4) FUoYR THE T
Crop Loans disbursed under the scheme for notified crops are covered under
Rashtriya Krishi Bima Yojana.
(1) KCC (2) SHG
(3) Micro Finance (4) None of the above
121. YA e GO HIoE TaHed Sies WO Swaeis T gaid HHl 3.
(1) = (2 TS (3) e (4) e
Which of the following states of India has lowest percentage of population living below
poverty line ?
(1) Haryana (2) Gujarat (3) Punjab 4) Goa
122. HERTE Afewl famraard! dere i vl Vansiel el 9 HEr I JEHR
T .
(1) sfeu mish ) wifasters T
(3) ifecars g (4) HET AT
Award is given to individuals and organisations working for the welfare of
women in Maharashtra.
(1) Indira Gandhi (2) Savitribai Phule
(3)  Ahilyabai Holkar (4) Mother Teresa
123. HIeR IRATHS . THERY TG .
(1) wEAnHe 2) s :
(3) T=™ (@) wathE 9 TIH T THRA
Motor vehicles cause type pollution.
(1) Air (2) Primary
(3) Secondary (4) Both primary and secondary
124. 3-Hewr e TE] 3R
(1) woxRE® 3@ 2) VERRIF T
(3) THRMEIF Ho (4) HEF A
E-mail stands for . ’
(1) Electronic mail (2) Electrostatic mail
(3) Electromagnetic mail (4) Electric mail

FHoed HINES! 9T / SPACE FOR ROUGH WORK.
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125. & TATeRTA JIE HO S GO S S
(1) = (2) =R (3) HmmTEST (4) dHO
is said to be both cause and effect of environmental degradation.
(1) Poverty (2) Unemployment (3) Backwardness (4) Development
126, ST 71 SIS weT Sefafded <AtHl Tk 3TE.
(1) 6 (2) 12 @) 21 (4) 24
India is identified as one of the Mega Biodiversity countries of the world.
(1) o6 (2) 12 3) 21 (4) 24
127. AT & 6 el SR O YR 9 SIH 39U ¢ TEA § THAAE, SRR,
Siforer @ A= TR GEEAT .
(1) @M. 9. UA. uE. . (2) M. 9l .
(3) & AR fe (4) WA 9. =0 9
The basic purpose of ____ is to improve and maintain soil fertility and sustain

agricultural productivity through the use of chemical, organic and bio-fertilizers in a
judicions manner.

(1) TPNMS ) IPM
(3) IRDP (4) HYVP

128. $eaMdle FSEHed YUaaH ALYl HUHSH Tedd S SUMHe Jrefaen Sl @1 Sarmel

Y TR,
(1) &9 am (2) TR @M
(3) TR (4) W sEm

is one which is carried wholly or partially with the help of members of the
family either as a whole or as a part time occupation. '

(1}  Small scale Industry (2) Cottage Industry
(3) Domestic Industry .(4) Primary Industry

129. WRAMEA AeAFdT (AN HEe AHUATE o1 ST RN FHl Bl ?

(1) TSIRTEE TR (2) U FH SN

(3) €l RoR (4) TIEETE AN

Which Commission recommended establishment of Central Planning Commission in
India ?

(1)  Fiscal Commission (2) National Commission of Agriculture

(3) Dr. Volckar (4) Commenwealth Commission

AT HTHTHTE AT / SPACE FOR ROUGH WORK
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130. == TR RO FEHTERY SETE § Steed a1 S RN TR0
371 B,
(1) = (2) = (3) ¥@3AR (4) wew

food grain prices have a favourable stabilising influence on the general price
level and cost of living.

(1) Low (2) High (3) Fluctuating (4) Medium
131. B Ao TRAR AT et IaH TR It .
(1) SHeETHw (2) TEER! TEEe wdl
(3) iECIomEER g Wdl (4) TAFIH HSS It
is the best farming solution for rural India.
(1)  Collective farming (2) Cooperative farming
(3) Capitalist farming (4) Peasant farming

132. Si. = @. T g AN ooshs W =1 A IREROEOD SHEE RSl (A 3ER

IOTHTET HifE.
(1) 1800 (2)y 2250 (3) 2400 (4) 2000
Dr. V.N. Dandekar and Shri. Nilkanth Rath estimated the number of persons below the
poverty line on the basis of daily calorie intake of per capita per day.
(1) 1800 (2) 2250 (3) 2400 (4) 2000
133. T o™ wiwedsR Tmis! 0 3.
(1) € qEE (2) TREYES Atsme fHEm
(3) (Operating) aTTa%Ein faeim (4) ITSIRIA WA
The is one of the system software programmes.
(1) Word processor (2) Databased management system
(3) Operating system (4) Application software
134. _ QU TH TS IHS YT Figd Jekal.
1) fufem (2) A-wm @) fewma. (4) T

programme identifies and eliminates unwanted and unsolicited e-mails.
(1) Media (2) Anti-spam (3) DSL (4) Meta

He=T HTATETS! SR / SPACE FOR ROUGH WORK
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135. Hifgd! 3R HIET (2000) e BT AT 3R,
(1) 3I-vo fefvee faa= (2) Z-HimH
(3) I-WON AE S (4) =EEHE
Legal recognition considered under IT Act 2000 is _
(1)  E-mail digital signature (2) E-commerce
(3)  E-filing of records (4) Business
136. TSN TaehTaIETST T CE. Y. Tl AT FATgAT SN WU 14 38U SH=Wel
10 @@ d < T[aaue Had HR@MT 0 G e el A1,
(1) Z253@ (2) %50 0™ (3) 7594 (4) T1&R
S.P. Gupta study group on Development of small Enterprises defined SSI units as those
with an investment of ¥ 10 lakh to in Plant and Machinery.
(1) T 25lakh (2) ¥ 50 lakh (3) T 75Ilakh (4) 1 Crore
137. <og snfs fawmr vq@ g "l
(1) TR (2) S
(3) SIIfdE (60T (4) TdeR! FIUTAE A
The formula for fast economic development is .
(1) Privatization (2) Liberalization
(3) Globalization (4) None of the above
138. T 2001 WS XA UG THOT ST FH &1 FGHT _ o Bl
(1) 50 (2) 40 (3) 59 (4) 65
In India, during 2001 the share of agriculture in total employment was percent.
(1) 50 (2) 40 3) 59 4) 65
139. ot dier Srvarge] SRS =i hedl SIAW 9 e WIhNE! THT oTEd.
(1) TEam suRd (2 &
(3) fomt 4) e
prices are generally announced well n advance of crop sowing season and
are guaranteed !
(1)  Minimum Support (2) Procurement
(3) Issue (4) Shadow
140. IO HERTETEl YRAd Ufedt shiid Sl

(1) ure (2) SR (3) Wil (dige) =M (4) HIENA
The state of Maharastra ranks first in the production of .
(1) Wheat (2) Sugar (3) Paddy (4) Fish

THeedl SISl W / SPACE FOR ROUGH WORK
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141. &R SHAN SISO STeIGTST 1T FRUTar 2
(1) SHEiemRey — (2) @orwRes (3) wEmIwEeq  (4) fodrwEgey
What are plants growing in saline soil called ?
(1) Oxylophytes (2) Halophytes (3) Psychrophytes (4) Lithophytes
142. WOSIH! HIOE 0 S oM F1 a2
(1) At e (2) R FET
(3) W1 WHH (4) YR FPEX
Which one of the following Computers works faster ?
(1) Mini computer (2) Micro computer
(3) Main frame (4) Super computer
143. YaHATER! FHiTaSRIaTS fowr daa guren Bud FAFATAT AT TR
B
(1) et (2) = (3) Hf= (4) R
Recommendations on Agricultural Marketing Reforms include use of _____
Technology to provide market-led extension services to farmers.
(1) Information (2) Bio (3) Organic (4) Traditional
144, AR SIRHET TedTed 90 o TeR FE=0T Sevamdiet SIord) STiawsd e 4 & ?
1 T () ke
(3) Taey, A & (4) UUH W
Which International body supervises and encourages International Trade ?
(1) GATT (2) NAFED
3) W.T.O. {4) Marketing Board
145. TSRS A6 § AThe 3R 99 R fashd ot wlieer i Hefud a&q @
TS FES T 3T,
(1) UHITHHR el (2) syl W
(3) TN HIhE (4) EIEHR SR
Electronic Marketisa __ __ market where there are worldwide buyers and sellers
who have detailed information regarding market and price.
(1) monopoly (2) perfect market
(3) imperfect market (4) duopoly

HeeAT SHIHTEET A / SPACE FOR ROUGH WORK
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146. G 2011-12 &I FW 9 qcq¥ faurm=n gt 2004-05 =1 fHAATHR 9=l §6he W SeATd
— T A B
(1) 13.9% 2) 15.0% (3) 16.1% 4) 20.9%
Agriculture and allied Activities, accounted for _ percent of GDP at 2004-05
prices in 2011-12.
1y 13.9% (2) 15.0% (3) 16.1% (4) 20.9%
147. WRATIS ASTIR G AT FHIVAT AR THRIHS ARes HH! S TR 7
(1) Q) @M
(3) fadta qan (4) IR
The negative growth rate of which sector has brought down the rate of growth of
employment in India ?
(1) Agriculture (2) Industries
(3) Financial services (4) Communication
148. _ BIHSURA ATTIST TN HIATA.
(1) EWEH (2) W 3) wWe (4) i
Match boxes are made up of wood.
(1) Teak wood (2) Babool (3) Semal (4) Mango
149. _ __ &g Arifes fowhl sieEuamds! Seamse aru ol W,
(1) GPS (2) OSI (3) DSL (4) NOS
use satellites to determine geographic locations.
(1) GPS (2) OsI (3) DSL (4) NOs
150. faurita g sy &7 wrl Hioa ?

(1) Snfwgeal FHFAA AT FHS ST HIW

(2) 3 SmfavarErst dedms 3o

(3) WY 9T e IEEh

(4) IS FFAER 0 a0

What is the main function of a Regional Rural Bank ?
(1) To advance loans to weaker sections.

(2) To encourage deposit mobilisation.

(3) To open branches in rural areas.
(4) To control inflation.

T RIUTHIS AT / SPACE FOR ROUGH WORK
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151. WISTBUh! HIv W] S 3R ?
(1) wga (2) T (3) Wt (4) TEl-49

Which of the following is a variety of sweet lime ?
(1) Mrudula (2) Rajapuri (3) Sathgudi (4) Lucknow - 49

152. U ool ae = qRyad i Aremsa] HeiHed qirend: foat et smam ?

(1) 50,000 - 75,000 (2) 75,000 - 1,00,000

(3) 1,00,000 - 1,50,000 (4) 2,50,000 - 3,00,600

Generally how many eggs are there in a matured female carp fish weighing one kg ?
(1) 50,000 - 75,000 (2) 75,000 - 1,00,000

(3) 1,00,000 - 1,50,000 (4) 2,50,000 - 3,00,000

153. HIUCAT SR Ggatd X0 AT Fesreiar siavia THal ?

(1) =g vl (2)  FO FEH A

(3) SUFFI T (4) P T FIOT A

Which agroforestry system involves integration of fruit trees with pasture ?
(1)  Silvi - pastoral (2)  Agri-horticultural

(3) Horti-pastoral (4) Agri-silvi-pastoral

154. EEIE O AU AT (SR deed T

(1) fovg =rE TR w0 (2) I HFIG TR L.
(3) S FAfeT (4) HIYE TR HO.
Which of the following statements is not true in respect of sunhemp fibre.
(1) Tissue paper production (2) Currency paper production
(3) Nets production (4) Textile production
155. 9T WA gesdl TS L.
(1) (2) e (3, @ (4) IR

Cyprinus carp originally belongs to .
(1) Japan (2) Korea (3) China (4) India
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(1) AE-T§ - WWSHH- dofed,

(2) g -9~ HEHI- defed,

(3) WH- WEHRI- Tg-def.

(4) TE - K- - WEHL

How wil] yéu arrange the crbps /group of crops in India in descending order of their
annua] production ?

(1)  Rice - wheat - coarse cereals - oil seeds.

(2) Wheat - rice - coarse cereals - oil seeds.

(3) Rice - coarse cereals - wheat - 0il seeds.
(4) Wheat - rice - oil seeds - coarse cereals.

157.

m@mmwmmwwm (Gerer) wemEer wiss @

Gﬂ'd‘ —
(1) T (2) fooRHGTT (B) WI13-1 (4) diew-1
- Root stalk used for salt tolerance in mango is :
(1) Ratna (2) Vilaikolamban (3) M13-1 (4) Salt-1
158. Y i<yl o |
- 1 - 11
(a)  HYETET TS () () 200 foeR
(b) RS (ID) (i) 170 T
(i) 190 fwmen
(iv) 180 fhaAt
1 @-0, O- 2 @-@), ®-@iv)
@ @-@v), ®-06 @ (@-3G) (b)- (i)
Match the following :
Column - 1 Column - II
- (ay. Cotton bale (i) 200 kg
(b) Jute bale (i) 170 kg
: (iii) 190 kg
(iv) 180 kg
1) @-G ®-0 2) @-@) (b)-Gv)
G @-@) -0 (4) (@)~ (), (b)- ()
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159. IO Y= FTETAAT SAHOT GTThRETH Hallees Sid 7
1)y 91 () 42 _ (3) €3 4) Hr4
Which type of plants are said to be drought resistant ?
(1) C1 2y C2 3 C3 : (4 C4
160. fasreh e TgaIST S Geten FHIew wefferist Hiown Fu Heet weiq e s ?
(1) <l Hedt=n e (2) we g ad
(3) @eF yadrn wd 4) wmH/ aeq @l
How is the experditure on drip irrigation system classified in Agriculture ?
(1) Long term expenditure (2) Medium term expenditure -
(3) Small term expenditure (4) Seasonal expenditure
161. 3Ufae ek THMAE Th THE UAA H1el SUMSH OIS Sae! Sae
(1) frebreh Wowe (2) fusfawoga (3) R WE Usd  (4) 92 W Ugd
Growing a set of crops in a regular succession in the same field within specified period of
time is called as . :
(1) Crop rotation (2) Mix cropping (3) Inter cropping (4) = Strip cropping
162. ST TSd WY g o wren e Tedeh fofed o ?
(1) SHFEER (2) =T U= S0
(3) wE@Ar @) EEd
Which system deals with the rights and pattern of control of the land resources ?
(1) Zamindari (2) Land terure
(3) Mahalwari (4) Rayatwari
163. WSS FHIvET FH MG T FI9 FE1 R 31F I 163D ?

(1) YIS 9 g HqqE ) Tiges fafHdt
() W HIEE (4) AYAEih I

Which of the following agro based enterprises will increase the agricultural growth at a
faster rate ?

(1)  Animal husbandry and dairy (2) Vermicompost production
{3) Fishery farming (4) Bee keeping
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== Hoedd! (el Wagre]) YHd shos! Sd SHivrd] 7

(1) =l Tl (2) gavREn

(3) FIHDT S (4) i

Which variety of Mango has been released for salad purpose ?
(1) Konkan Raja (2) Suvarnarekha
(3) Konkan Amruta (4) Suvarna

165. TS IO CERET TG Tshi TEI913 el v = §&dal 100 A e @ &

3TH UM,

(1) w9 (6l 3R) — o o

(2)  HITGT ST (T m.) — ek Frdwie

(3) e TEIEET W (@33 ) — SHIT FHIHI UM
(4) WIS T (IR, ™) — Fdee feens

The number of crops grown in succession per annum on a given area of land x 100 is
known as .

(1) Crop Ratio (CR)

(2)  Cropping Index (CI)

(3) Land Equivalent Ratio (LER)

(4) TRotation Index {(RI)
166. BAEE SYRVIARE] Gioioud! Siv e qdas qfed ?

(1) T FE dEAE YT (2) TEE woRT ATEE

(3) U ST AN (4) TR &Y aiig qugd hg

Which of the following provides financial support for erection of green house ?

(1) National Agril Technology Project (2) National Horticulture Mission

(3) Nationai Food security Scheme (4) National Research centre on citrus
167. 9790 ST HIOTH TEA ATGhHTHE 3T SR TR ST SIfg-iencdt arXet <id ?

(1) fou= fa=m (2) TEuNTEEA "oft 30
(3) 3 (4) R fg=m

Which method of irrigation is most widely adopted for sandy soils and soils with high
infiltration rate ?

(1) Drip (2) Surface
(3)  Check basin (4) Sprinkler
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168. TRa Shidl wareAT ST Tegr=at AT oS ST ST
(1) "ReAr (2) ®z=A (3) s (4)
Green revolution was possible because of varieties of rice and wheat.
(1) Long duration (2) Short duration (3) Tall (4) Dwarf
169. FHIHUMHIST RIERE FOIM S A= I —
1) deqh 2) =R (3) HIHUI HAE  (4)  HIHOT T
Goat breed recommended for Konkan region :
(1) Pandharpuri (2) Bore (3) Konkan Kanyal (4) Konkan sheli
170. SifTea ave X 9re/ e Sl S Y HelHr.
1) fadem (2)  Shsfsid (3) i (4) foeidfe
Cultivation of plants/crops in the surface soil is known as
(1) Genetisum (2) Geocropping  (3) Gestropism (4) Geoponics
171. T SSHTAET Y@ SUHET 610 SR ?
(1) SEmER 2) Tyoar= owof
@) o= (vafg=m) (4) weE
Which sector is the major consumer of water resources in India ?
(1) Industry (2) Drinking water
(3) Irrigation (4) Fish farming
172. g AT TERIS SAisar=a Fafdraet fandt frafa dmin w5 feat ome ?
™ 1 2 2 3 3 4) 4
How many export zones, Central Government has sanctioned to Maharashtra for export
of Mangoes ?
@ 1 2 2 @) 3 4) 4
173. F ¢ Word F V@ A9 AR e .
(1) @ (2) favom (3) WA (4) ST

credit is given on the security of shares and bonds.
(1) Consumption (2) Marketing (3) Chattel (4) Production
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174. FEEM TS GUGRE fahH hEHAST FIUEl SEYEd Ul Jeded @&y SUe 3o
3T ?
(1) HRESAE Idra WAd Idd T

(2) Wg 3 Safafaudd Hagq FHoaEre!

(3)  EET gt fasE wivarEre!

(4) e .

~—

What for has the National watershed Development programme become a movement in
Maharashtra ?

(1) Conversion of rainfed agriculture to sustainable agriculture
(2) Conservation of soil and biodiversity

(8) Overall development of villages
(4) All the above

175. T TV ISR AT FHI0T T G AS) 2

(1y 1967 (2) 1977 (3) 1980 (4) 1984

In which year did the National Rural Employment scheme start ?

(1) 1967 (2) 1977 (3) 1980 (4) 1984
176. g foem qofi Svar wafa wearel sTae L.

(1) o Foar (2) TS pEE

@) <uEE fas s (4) UFE Tod HEOATE!

The most important growth stage of wheat crop for irrigation is

(1) Flowering stage (2) Tillering stage

(3) Early dough stage (4) Crown Root Initiation stage

177. oe a1 HRfAvIE! ErAGE Qe FM AT S ?
(1) TI%T HEA A ATFES (2) HIEY TH
(3) HTEY FET T AFES (4) FIEY T

Which of the following is currently used for preserving frozen semen ?
(1) Liquid carbon dioxide (2) Solid nitrogen
(3) Solid carbon dioxide (4) Liquid nitrogen
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178. HERISE TF IO i 2
(1) =™ 2) feg B) vF® 4y e
Which is the Maharashtra State animal ?
(1) Tiger (2) Lion (3) Giantsquirrel (4) Black buck
179. vERite qumed Ul faraie fedt <o ol ?
(1) 10.2 (2) 5.0 3y 17.6 (4) 6.6
What is the average fat content (%) of buffalo milk ?
(1) 10.2 (2) 5.0 (3) 17.6 (4) 6.6
180. TG TRIY Ty Fg HIS g ?
(1) e (2) <EEH (3) @ (4) EUeE
Where is the National Research Centre for Agro-forestry located ?
(1) Bangaluru (2) Dehradun (3) Jhansi (4) Hyderabad
181. TIFHGIH] HIVE TS BT GIEA (de-ga) 7 A7 2ia 718t ?
(1) wE (2) o (3) @ @) T
Which of the following animals does not suffer from foot and mouth disease ?
(1) Buffalo (2) Bullock (3) Goat (4) Dog
182. YA e, foqaiia e, hedl MM AHEE & Wed ol alfieh SCHGATTHR IaTc HHT
[EIN
(1) e, e, foaarita ws, awEe () P, TEgEita w3, shian, TwTEe
(3) e, Hedl, Togariia e, TFTG @) otie, fogeriia e, Fal, awiEg
Arrange mango, citrus fruits, banana and apple in the descending order of their annual
production in India.
(1) Banana, mango, citrus fruits, apple. ~ (2) Banana, citrus fruits, mango, apple.
(3) Mango, banana, citrus fruits, apple.  (4) Mango, citrus fruits, banana, apple.
183. JUATHE HIMH FAMA dled 9 FI=1ar wH! §id ?

(1) g S g (2) e (3) Sads (4) STEIHEHI

What increases homozygocity and decreases heterozygocity in animals ?
(1) cross breeding (2) Selection (3) Inbreeding (4) Outcrossing
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184. |9 2010-11 ¥ HeMI2d fHur@eie G (Tert) Faoe Heas e cFnard

% .
(1) 16.8 ) 10.0 3) 19.1

(4)

21.0

In Maharashtra percentage of irrigated area (provisional) to net area sown was

% during 2010-11.

(1) 16.8 (2) 10.0 (3) 19.1 (4) 21.0
185. WITITIh! HIVT TR e TLA1 SN[E F@od 376 ?

(1) e (2) e @) T (4) o F

In which fish, is the mouth curved upwards ?

(1) Catla (2) Mrigal (3) Rohu (4)  Scale carp
186. HYUCI=AT SMEEIHE! AT

1 WA ) T (3) i¥ (") (4) femm

Agave is propogated by

(1) Leaves (2) Roots (3) Suckers (4) Seeds
187. [T Feld! SRt HIM het wITd 2

(1) el () S/

@) B - (4) Ve qEe

Under which category investment credit is classified ?

(1) Security (2) Purpose

(3) Time (4) Contact with the farmers
188. eeAl= M9 T fenctt fgawien st ?

(1) 120 % 130 feog (2) 1457 150 fea®

(3) 1651 180 feaw (4) 180 200 feaw

How much is the pregnancy period in goat ?

(1) 120 to 130 days (2) 145 to 150 days

(3) 165 to 180 days (4) 180 to 200 days
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189. 9RA <M HUE AN o= fordt fforie o ?
(1) 1194 (2) 1004 (3) 1294 (4) 994
What is the mean annual rainfall in mms of India ?
(1) 1194 (2) 1004 (3) 1294 (4) 994
190. TEEN(S AT T WS ST ?
(1) <~ e
(2) iR 9T
(3) g, SO, qT, T U3, Wel
4) o wd
What is used for feeding fish in ponds ?
(1)  Fresh cowdung
(2) Groundnut cake
(3) Wheat, sorghum, pigeon pea, gram floor, grind
(4) All the above
191. A& SAEMEE ASTH TAH Y UK.
(1) =<l whidl (2) I widl
(3) EFT wid! (4) @ il
The progress made in fisheries is known as
(1)  Silver revolution (2) Blue revolution
(3) Sea revolution (4) Black revolution
192. TERIT FIVAT qUiET= T aifys ITeT o g ?
(1) e (2) @ (3) HHI 4) ™
In Maharashtra, which cereal crop has the highest yield potential ?
(1) Sorghum (2) Pearlmillet (3) Maize (4) Wheat
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193. ATAE TE@E1 RO =R Sl @Ieieteh! hiow! 701 SHere=el T5d g 3TTR.

1) Sfaw
(2) TEEAH

(3) UIHIFIG ST de Haee
(4) THIcHe AU qEETIH

Considering the effect of climate change, which of the following methods of weed
management is effective.

(1) Biological

(2) Chemical

(3) Preparatory tillage and corp-rotation
(4) Integrated weed management

194, FH F9R BV ] SR SATioT Tl IEEQS
(1) WRER&SA (2) fasheaamrgd (3) VaEAHEA (4) SRR

Agricultural marketing implies selling of goods and services by the _
(1) Purchasers (2) Sellers (3) Farmers (4) Traders

195. WOHGIH] VAl SREM, AR ANTE] S0 JUATEre! HRUIYd 3%l ?

) e | (2) T

(3) D3 Q) (4) SSURT HIVTATE TE.

Which of the following hormones is responsible for the symptoms of heat in females ?
(1) Gonadotrophins (2) Oestrogen

3) (@)and (2) . _ (4) None of the above

196. WIGIGUH! RV T TS hichX Adld Hel Sl 2
(1) i Ffoer=n Jraes, g a g fSawo ame
(2) SYUEERIS THRRIEl AT
(3)  HUURKT WERAT FHT AR
(4) e e

Which of the following is adopted in Precision Farming ?
(1)  Use of agricultural inputs at proper time, proper quantity and proper place
(2)  Use of satellite maps

(3) Use of computer to operate machinery
(4) All the above
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197. W=l fS&a 9 o :

(1) Efex v (2) & foamog

(3) ot 4) o=

The living part of soil is

(1) Organic matter (2) Micro organisms

(3) Water (4) Nutrients
198. FISIE WG hegl WSR HT STl 7

(1) 21-28 W=, (2) 22-29%. (3) 5-12 A (4) 1-7 R

When is wildlife week celebrated ?

(1) 21-28March (2) 22-29 May (3) 5-12June (4) 1 -7 October
199. Yemed 9 JHY Ay 7.

(1) o (2) ¥© (3) YT I @) EE

Straw is rich in .

(1) Silica (2) Phosphorus (3) Available calcium (4) Proteins
200. MRAMS I HH IARHAD WISIGUHT HIVA TIE FHRT 3R ?

(1) TEEE Tarar &H 9w (2) WU FHHar

() Gui@ daEE A9 (4) WIS YHTOTER HREATG It
Which is the principal cause of low productivity of Agriculture in India ?

(1) Less use of chemical fertilizers (2) Unavailability of farm labour

(3) No adoption of improved technology (4) Large area under rainfed agriculture

-00o0-
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HEA -— (T2 1 987 9Q....)

©)

worifEa Ry fafeq Foon fafire v &= %™ (76 96) &0, TeTYRKshATdiad SaiAeher o
TR FTEE Fed HH R § I FOGTEAT I FS AR, T AFD JES 6 AR SHSIRER
SITAN S ool ulig e 2o RywRiAT wfady weameead sTfufEe-g2 " Al TgEIJEN SRR
IO 55 9 S oAkl HHTS U Turedl HRIGTETEAT SN0/ el ¥U8 UH gWR TR cerl e

~

T WA FFEEE oA fafed oW 9% YUEHE SHSANA € TR W Sle YUt
STEATH QT ATE. 6T T S eTTeTel WuhTgeE] SHEaTT TUedT STiuiTehdl |- 1
HOATRTEE 7 Taaw@T U Ut SMavaeh 38,

st

ook

T T

L 201, P 9@ TR FIUAEIE] RV I T O 7
(iy T gaHe T () IvaTEg (T
3y TSI UHAEA 99 @  TTEEH TS

1 T Ay I (3) TS OHERT W 3 . WM A W Iw (3)" dRe. Irad
GTEMEIATI U9 . 201 FHE sR-sdw (@)’ ¥ 9@ qoie srEifed wET gt
ATEIF TR

ZNGNOR Yo

FOU G TRd IYRahdie To® Tl gl SahHie 81 TRl Waael Qi
mmﬁémﬂ?wmwmﬁwwfwaﬁawmmw Bleain
W THIHAT IED Ao 9T, Ufwe | vge U | T4
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